FR26FEE RERSFERIARBERENRT7 Y FR—ILEER

- =

P
=

(% F¥]

EFBEE
(B 1460
X g8 F

(H{E 8 fiL)

25

£ ¥

(ALE 5 )

]

R
(BRAE 4 i)

]

XtZERH
(L5 3 6)

R H

(Fa1E 6 fiL)

£ H

(BRAE 7 )

i

g

#
(H{E 2 i)

E ¥ & ¥
(ALfE 2 i)

# B &

(Fa1E 7 i)

£ H

(BRAE 6 i)

H n

(H{E 3 £i)

e

x

]

(Fa1E 4 i)

LN
(H{E 541

B % @A

(LE 8 fi)

#t
(BRAE 14D

= H

5

3

4

10

1

12

13

14

k2641182880 -29H-30H

EHEHIERGHER

150

(39, 40, 36, 35)

(11,8,8,9)

36

n

(26,8,18,19)

(3,10,14,8)

35

90

(24,19, 24,23)

(19,12,15,15)

61

29

4,7,7,11)

(16,17, 34,17)

84

96

(24,123,126, 23)

(6,3,7.6)

22

47

(4,15,13,15)

(23,20, 18, 22)

83

55

(8,17,18,12)

(13,10,8, 14)

45

37

(4,8,15,10)

(44,29, 20, 18)

111

19

(22,18,18,21)

(26, 18,23, 21)

68

88

68

(13,21,16,18)

(13,10, 22,17)

(18,11, 20, 19)

(17,10, 21,12)

51

62

93

(32,17,21,23)

(21,12,15, 25)

60

69

13

53

(12,6, 14,21)

(20, 26, 26, 11)

(16,17,12, 24)

(22,21,22,16)

(10,7,11,23)

(26, 18, 20, 16)

& %

> B s

68 15

ROA MUY, BREEHLAEAREE

103

EHESFFRAEAGTER/NR Ty bR—ILEME

51

15

83

81

UE  fz]

80

14z
241
3
44

(17,20, 25, 6) (19, 21,16, 19)

SGLRE B
60 86
(13,1782 | (11,25,30,20)

k4 g’]—\

F e
[7.

3] =
%ﬁx%g

(22,29,217,25)

(21,18,12,11)

(17,9,10, 15)

(12,19, 13,16)

(16,19, 18,22)

(11,13,17,18)

59

59

60

96

(12, 14,13, 20)

(28,25,21,12)

86

55

62

(24,28, 18, 26)

(17,13,17,14)

(17,11,12,15)

(25,16, 19, 24)

84

54

61

(8,20,8,18)

(20, 15, 16, 21)

12

81

(18,16, 28, 19)

(14,14,6,8)

42

10

(5,23,19,23)

(22,25, 18, 35)

100

95

(29, 15, 26, 25)

11,7,11,9)

38

31

(6,8,7,10)

(33,21, 21, 30)

105

120

(28,29,29, 34)

(16,0,12,8)

36

55

(15,10, 15, 15)

(25,24,23,27)

99

36

(7,13,9,7)

(18,20, 26, 17)

81

49

(12,14,9,14)

(36, 19, 18, 28)

101

M & 2 B

(shiE 14

18 F M

(Fa1E 8 fiL)

it

190 F & %
(RIE 54D

=
[=]

20Kk %
(LS 4 )

H

21% R

(BR1E 3£)

it

2# M K& R
(hiE 6 4D)

23 78 I

(L4 7 i)

=

UHEBXE=
(FfE 240

Ho
=

B4E AR
(RIE 24D

26 K ¥

(H{E 7 )

21 B 2
(4L4E 6 i)

B FWBMET E
(B 341)

29 MAEXBELTH
(H1{E 4 fi1)

308k H A
(FfE 5 4i1)

N OB OE

(R1E 8 1)

REHFHIRE
(L5 1 60



(1 [EE)
1T ®E B E %
2 K ¥ 3]
IXIt2EEF
4 + H [ii]
5R B B %
6 £ A
TR 3 = E
8 ¥ [ii]
I B 2 E
100 F 1& 2 £
1% iR it
12 78 IR )
134 A E =
14 & 7
15 MAEEBLATE
16/ 38 B %
(2 [E5)
1T #EBE %
Xt EEF
3R B W %
AR 3 = E
58y B 2 E
6 B iR it
1T A K B
8y HA =mE #
(ERRE)
1E ¥ 3]
2R B W %
I B F E
AFEBRIRET E
(HERBE)
£ ¥ 3]
BB KE=
(R B
A #F 22}
(= R
£ ¥ 3]
(g ]
16 R iE K &5

o E & H
3L EMIAELS B
iMEE B M@

68

60

AN AN AN AN AN AN AN

NSNS

(

(

(

20

17

22

e N N N N N N N N N N S N S N

— N N e N N

— —

75

86

AN AN AN AN AN AN AN AN AN AN AN AN AN AN AN

AN AN AN AN AN AN AN

NSNS

19

11

21

25

4

19

20

iE i

e N N N N N N N N N N S N S N

am < St \m DE B g Wm
L7
o4

HE S L,

2t DiE X<
uiz:]

o
i
I

=SEHEEH

o3
=
| NSIH&H&H

>+
s
=5

<431 B
=]
ey
UL
I BB

-emﬁf L'_;
= N
,|_>+4m
PRI
W | B

/= #® H
FRRET R

REXE =

FRRET R



	結果
	結果入力

